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5 3.16 The new budget line is RR'Z', which is found by subtracting $50 from the purchase of

' other goods (point R) and moving horizontally $150 from R to R'. The price of food has not

— 7 changed so from point R’ on, the budget line falls at slope fil until Z' is reached. The $100 gift of

- food stamps generates budget line AA'Z'". The system that prevailed prior to 1979 will generate = ——— --

‘ more food consumption if the optimal consumption pomt under the post-1979 regime is tangent - __
to AA'Z' to the left of R'. Otherwise, food consumption is the same under the two regimes.
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